# City and County of San Francisco Department of Public Works TABULATION OF BIDS

Contract ID: 1000017336

Contract Title: PW Upper Market Sfty Impr Prj

Full Title: UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS

Bids Received: October 21, 2020

BIDDERS (in the	order received & opene	<u>ed):</u>	LBE Discount Claimed	d <u>Total Bid Price</u>		
M Squared Constru A. Ruiz Constructio Esquivel Grading & CF Contracting, Inc	n Company, Inc. Paving, Inc.		SBA-LBE 5% \$10,685,50   Small-LBE 10% \$8,382,60   SBA-LBE 5% \$7,540,49   Micro-LBE 10% \$8,376,59			
	= Indicates a correction	% of Engineer's Es <b>n of the bid price after revie</b>	Average Bid Engineer's Estimate % of Engineer's Estimate stimate vs. Low Bid Received	2: \$8,042,362.12 2: 108.75%		
cc: Carol Huang Iqbalbhai Dhapa All Bidders For complete sub	Michelle Woo Selormey Dzikunu Nicolas King Ed Yee contractor listings, chec	Alaric Degrafinried Fernando Cisneros Patrick Rivera Cyril Velasquez k: <u>https://bidopportunities.a</u>	Susanne Suskind K2 Systems Nicolas Huff Raymond Woo pps.sfdpw.org/CaseLoad/Detai	Pansy Lam Jason Chin Deanna Calleros Is/2231		

Reviewed By: Rob Loftus (Insert Name) Approved By: Ben Washington (Insert Name)

Short Title: PW Upper Market Sfty Impr Prj

### Full Title: UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS

Bid Date: October 21, 2020

M Squared A. Ruiz Construction **Esquivel Grading &** Construction, Inc. Company, Inc. Paving, Inc. CF Contracting, Inc. **EXTENSION EXTENSION** EXTENSION EXTENSION **BID ITFMS OUANTITIES** UNIT UNIT PRICE UNIT PRICE UNIT PRICE UNIT PRICE LS \$2,800,000.00 \$600,000.00 \$781,000.00 \$250,000.00 G-1 G-2 LF \$1.00 \$2,700.00 \$13,500.00 \$2,700.00 \$1.38 2,700 \$1.00 \$3,726.00 \$5.00 ΕA \$20,000.00 \$8,250.00 \$20,000.00 G-3 \$120,000.00 \$12,000.00 \$72,000.00 \$49,500.00 \$120,000.00 6 G-4 AL \$86,000.00 \$86,000.00 \$86,000.00 \$86,000.00 ---------------G-5 ---------------------------G-5A LS \$400,000.00 \$440,000.00 \$262,500.00 \$138,000.00 ---------------\$150,000.00 \$150,000.00 G-5B AL \$150,000.00 \$150,000.00 ---------------G-6 \$15,000.00 \$15,000.00 \$15,000.00 \$15,000.00 AL ---------------G-7 AL \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 ---------------TON \$42,735.00 G-8 259 \$50.00 \$12,950.00 \$112.00 \$29.008.00 \$165.00 \$100.00 \$25,900.00 TON \$12,950.00 \$25,900.00 G-9 259 \$50.00 \$12,950.00 \$50.00 \$93.50 \$24,216.50 \$100.00 G-10 \$6,500.00 \$8,580.00 \$3,900.00 65 TON \$100.00 \$50.00 \$3.250.00 \$132.00 \$60.00 G-11 TON \$100.00 \$6,500.00 \$5,850.00 \$7,150.00 \$3,900.00 65 \$90.00 \$110.00 \$60.00 G-12 AL \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 ---------------\$50,000.00 \$50,000.00 G-13 AL \$50,000.00 \$50,000.00 ---------------G-14 LS ---\$300,000.00 \$34.972.74 ---\$203,500.00 \$150.000.00 ---------\$200,000.00 G-15 LS \$23,315.16 \$49,500.00 \$100,000.00 ----------------\$176,715.00 CR-1 385 TON \$300.00 \$115,500.00 \$220.00 \$84,700.00 \$218.25 \$84,026.25 \$459.00 CR-1A SF \$5.00 \$30,000.00 \$4.00 \$24,000.00 \$6.25 \$37,500.00 \$5.00 \$30,000.00 6,000 CR-2 25,000 SF \$15.00 \$375,000.00 \$17.00 \$425,000.00 \$15.35 \$383,750.00 \$30.00 \$750,000.00 CR-3 SF \$27,500.00 \$22,000.00 \$30,085.00 \$32.00 \$35,200.00 1,100 \$25.00 \$20.00 \$27.35 CR-4 20,000 SF \$320,000.00 \$9.00 \$180,000.00 \$15.50 \$310,000.00 \$14.00 \$280,000.00 \$16.00 CR-5 LF \$45,500.00 \$52,000.00 \$41.00 \$65.00 1.300 \$35.00 \$40.00 \$53,300.00 \$84,500.00 \$220,000.00 CR-6 LF \$48.00 \$105,600.00 \$71.00 \$156,200.00 \$215,600.00 2,200 \$100.00 \$98.00 CR-7 550 LF \$82,500.00 \$330.00 \$181,500.00 \$410.00 \$225,500.00 \$150.00 \$600.00 \$330.000.00 CR-8 50 \$800.00 \$165.00 \$100.00 LF \$100.00 \$5,000.00 \$40,000.00 \$8,250.00 \$5,000.00 CR-9 2 ΕA \$22,500.00 \$45,000.00 \$6,500.00 \$13,000,00 \$14,800.00 \$29,600.00 \$20,000.00 \$40.000.00 CR-10 29 \$174,000.00 \$5,000.00 \$145,000.00 \$3,995.00 \$115,855.00 \$3,500.00 \$101,500.00 EA \$6.000.00 CR-11 ΕA \$20,000.00 \$19,350.00 \$12,000.00 \$10,000.00 \$1,800.00 \$3,600.00 \$9,675.00 \$6,000.00 2 CR-12 70 LF \$150.00 \$10,500.00 \$800.00 \$56,000.00 \$130.00 \$9,100.00 \$236.00 \$16,520.00 CR-13 ΕA \$1,650.00 \$1,500.00 \$2,000.00 \$2,000.00 \$5,000.00 \$5,000.00 \$1,650.00 \$1,500.00 1 CR-14 SF \$72.00 \$27,360.00 \$24,700.00 380 \$60.00 \$22,800.00 \$65.00 \$24,700.00 \$65.00 CR-15 ΕA \$15,000.00 \$12,000.00 \$3,300.00 \$6,750.00 15 \$1,000.00 \$800.00 \$220.00 \$450.00 CR-16 1 ΕA \$10,000.00 \$10,000.00 \$12,000.00 \$12,000.00 \$8,800.00 \$8,800.00 \$8,500.00 \$8,500.00 \$34,400.00 CR-17 40 ΕA \$1,000.00 \$40,000.00 \$860.00 \$385.00 \$15,400.00 \$450.00 \$18,000.00 15 \$16,500.00 CR-18 ΕA \$1,000.00 \$15,000.00 \$1,050.00 \$15,750.00 \$385.00 \$5,775.00 \$1,100.00

Short Title:

### PW Upper Market Sfty Impr Prj UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS Full Title:

Bid Date:

October 21, 2020

				MC						
				M Squared		A. Ruiz Construction		Esquivel Grading &		CE Contracting Inc
05.40	_	= 1	<b>*</b> 4 000 00	Construction, Inc.	<b>*</b> ~~~~~~	Company, Inc.	<b>*</b> 405 00	Paving, Inc.	<b>*</b> 4 000 00	CF Contracting, Inc.
CR-19	5	EA	\$1,000.00	\$5,000.00	\$800.00		\$165.00	\$825.00	\$1,200.00	\$6,000.00
CR-20	5	EA	\$200.00	\$1,000.00	\$200.00		\$38.50	\$192.50	\$1,250.00	\$6,250.00
CR-21	5	EA	\$500.00	\$2,500.00	\$1,000.00		\$165.00	\$825.00	\$850.00	\$4,250.00
L-1	21	EA	\$1,700.00	\$35,700.00	\$4,000.00		\$1,002.75	\$21,057.75	\$2,500.00	\$52,500.00
L-2	24	EA	\$300.00	\$7,200.00	\$200.00		\$275.00	\$6,600.00	\$250.00	\$6,000.00
L-3	50	EA	\$300.00	\$15,000.00	\$1,000.00		\$300.00	\$15,000.00	\$250.00	\$12,500.00
L-4	750	SF	\$200.00	\$150,000.00	\$70.00		\$57.00	\$42,750.00	\$40.00	\$30,000.00
L-5	7,200	SF	\$80.00	\$576,000.00	\$68.00		\$57.50		\$100.00	\$720,000.00
L-6	270	SF	\$200.00	\$54,000.00	\$68.00		\$66.00	\$17,820.00	\$100.00	\$27,000.00
L-7	1,720	SF	\$100.00	\$172,000.00	\$38.00	\$65,360.00	\$75.90		\$135.00	\$232,200.00
L-8	7,632	SF	\$29.00	\$221,328.00	\$88.00	\$671,616.00	\$21.00	\$160,272.00	\$30.00	\$228,960.00
L-9	25	EA	\$2,000.00	\$50,000.00	\$2,600.00	\$65,000.00	\$1,837.50	\$45,937.50	\$2,500.00	\$62,500.00
L-10	12	EA	\$1,800.00	\$21,600.00	\$1,650.00	\$19,800.00	\$1,627.50	\$19,530.00	\$1,800.00	\$21,600.00
L-11	10	EA	\$200.00	\$2,000.00	\$70.00	\$700.00	\$131.25	\$1,312.50	\$75.00	\$750.00
L-12	280	EA	\$100.00	\$28,000.00	\$40.00	\$11,200.00	\$68.25	\$19,110.00	\$35.00	\$9,800.00
L-13	41	CY	\$300.00	\$12,300.00	\$350.00	\$14,350.00	\$105.00	\$4,305.00	\$330.00	\$13,530.00
L-14	34	SF	\$100.00	\$3,400.00	\$398.00	\$13,532.00	\$36.75	\$1,249.50	\$150.00	\$5,100.00
L-15	34	EA	\$1,200.00	\$40,800.00	\$1,200.00	\$40,800.00	\$850.50	\$28,917.00	\$1,300.00	\$44,200.00
L-16	35	EA	\$2,500.00	\$87,500.00	\$2,200.00	\$77,000.00	\$1,995.00	\$69,825.00	\$2,850.00	\$99,750.00
L-17	10	EA	\$3,000.00	\$30,000.00	\$2,890.00	\$28,900.00	\$2,772.00	\$27,720.00	\$3,960.00	\$39,600.00
L-18	4	EA	\$3,000.00	\$12,000.00	\$2,500.00		\$2,236.50	\$8,946.00	\$3,195.00	\$12,780.00
L-19	79	EA	\$2,000.00	\$158,000.00	\$1,905.00	\$150,495.00	\$1,685.25	\$133,134.75	\$2,400.00	\$189,600.00
L-20	3	EA	\$2,000.00	\$6,000.00	\$4,000.00		\$1,155.00	\$3,465.00	\$2,000.00	\$6,000.00
L-21	8	EA	\$2,000.00	\$16,000.00	\$340.00		\$220.00		\$400.00	\$3,200.00
L-22	7	EA	\$1,000.00	\$7,000.00	\$340.00		\$220.00	\$1,540.00	\$400.00	\$2,800.00
L-23		LS		\$10,000.00		\$178,000.00		\$82,500.00		\$72,000.00
L-24		AL		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00
L-25		AL		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00
WD-1	110	CY	\$200.00	\$22,000.00	\$50.00		\$23.10		\$230.00	\$25,300.00
SW-1		LS		\$100,000.00		\$12,900.00		\$6,825.00		\$52,900.00
SW-2	3	EA	\$7,400.00	\$22,200.00	\$9,000.00		\$7,859.25		\$17,250.00	
SW-3	10	EA	\$6,900.00	\$69,000.00	\$2,000.00				\$11,500.00	\$115,000.00
SW-4	174	LF	\$176.00	\$30,624.00	\$278.00					\$100,050.00
SW-5	10	EA	\$1,000.00	\$10,000.00	\$2,000.00	. ,			\$1,725.00	\$17,250.00
SW-6	11	EA	\$41.00	\$451.00	\$100.00				\$345.00	\$3,795.00
SW-7	20	CY	\$398.00	\$7,960.00	\$400.00					\$11,500.00
SW-8	7	EA	\$53.00	\$371.00	•		·	. ,		
	-	_/、	\$00.00	<i>¥</i> 01.100	2.00.00	+ .,000.00	÷	÷ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	÷	2000.00

Short Title: PW Upper Market Sfty Impr Prj

#### Full Title: UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS

Bid Date: October 21, 2020

ET-19

43

ΕA

M Squared A. Ruiz Construction **Esquivel Grading &** Construction, Inc. Company, Inc. Paving, Inc. CF Contracting, Inc. \$48,000.00 SW-9 \$48,000.00 \$48,000.00 \$48,000.00 ---AL ------------ΕA \$22,050.00 E-1 21 \$1,000.00 \$21,000.00 \$1,050.00 \$1,050.00 \$22,050.00 \$920.00 \$19,320.00 E-2 ------------------------LF \$216,000.00 \$105.00 \$226,800.00 \$226,800.00 \$285,120.00 E-2A 2,160 \$100.00 \$105.00 \$132.00 \$30,870.00 E-2B 280 LF \$105.00 \$29,400.00 \$105.00 \$29,400.00 \$110.25 \$144.00 \$40.320.00 \$200.00 \$210.00 \$29,400.00 \$190.00 \$26,600.00 E-3 140 LF \$28,000.00 \$29,400.00 \$210.00 E-4 140 LF \$205.00 \$28,700.00 \$213.00 \$29.820.00 \$215.25 \$30,135,00 \$196.00 \$27,440.00 \$27,500.00 \$28,875.00 \$28,875.00 \$167.00 \$45,925.00 LF E-5 275 \$100.00 \$105.00 \$105.00 ΕA \$48,000.00 \$50,400.00 \$50,400.00 \$49,680.00 E-6 240 \$200.00 \$210.00 \$210.00 \$207.00 \$352,000.00 \$369,600.00 ΕA \$4,000.00 \$4,300.00 \$4,200.00 \$3,853.00 \$339,064.00 E-7 88 \$378,400.00 \$11,000.00 E-8 5 ΕA \$2,000.00 \$10,000.00 \$2,200.00 \$2,100.00 \$10,500.00 \$2,013.00 \$10,065.00 LS \$60,000.00 \$63,000.00 \$143,750.00 E-9 \$66,000.00 ---------------E-10 14 ΕA \$3,000.00 \$3,300.00 \$46,200.00 \$3,150.00 \$44,100.00 \$3,450.00 \$48,300.00 \$42,000.00 \$2,200.00 \$4,200.00 \$2,070.00 \$4,140.00 E-11 ΕA \$2,000.00 \$4,000.00 \$4,400.00 \$2,100.00 2 \$3,000.00 \$2,625.00 \$1,440.00 E-12 5 ΕA \$500.00 \$2,500.00 \$600.00 \$525.00 \$288.00 E-13 ΕA \$50,000.00 \$55,000.00 \$52,500.00 \$40,250.00 5 \$10,000.00 \$11,000.00 \$10,500.00 \$8,050.00 \$97,750.00 E-14 LS \$300,000.00 \$155,000.00 \$236,250.00 ---------------\$100,000.00 E-15 AL \$100.000.00 \$100.000.00 \$100.000.00 ---------------ET-1 ΕA \$1,000.00 \$2,472.00 2 \$2,000.00 \$1,050.00 \$2,100.00 \$1,050.00 \$2,100.00 \$1,236.00 ET-2 ΕA \$1,200.00 \$66,000.00 \$1,400.00 \$77,000.00 \$1,260.00 \$69,300.00 \$1,323.00 \$72,765.00 55 ET-3 ΕA \$6,500.00 \$1,260.00 \$6,300.00 \$1,236.00 \$6,180.00 5 \$1.200.00 \$6,000.00 \$1.300.00 ET-4 ΕA \$1,200.00 \$1,200.00 \$1,300.00 \$1,300.00 \$1,260.00 \$1,260.00 \$1,236.00 1 \$1,236.00 ET-5 ΕA \$1,300.00 \$1,260.00 \$1,260.00 \$1,380.00 \$1,380.00 1 \$1.200.00 \$1.200.00 \$1.300.00 ET-6 3 ΕA \$1,300.00 \$3,900.00 \$1,400.00 \$4,200.00 \$1,365.00 \$4,095.00 \$1,495.00 \$4,485.00 ET-7 ΕA \$1,300.00 \$1,300.00 \$1,365.00 \$1,495.00 1 \$1,300.00 \$1.300.00 \$1,365.00 \$1,495.00 ET-8 \$5,500.00 \$5,800.00 \$4,025.00 2 ΕA \$11,000.00 \$11,600.00 \$5,775.00 \$11,550.00 \$8,050.00 ET-9 2 ΕA \$1,000.00 \$2,000.00 \$1,050.00 \$2,100.00 \$1,050.00 \$2,100.00 \$1,236.00 \$2,472.00 ΕA ET-10 1 \$5,500.00 \$5,500.00 \$5.800.00 \$5,800.00 \$5.775.00 \$5,775.00 \$6,325.00 \$6,325.00 2 ΕA \$2,520.00 \$2,416.00 ET-11 \$1,200.00 \$2,400.00 \$1,300.00 \$2,600.00 \$1,260.00 \$1,208.00 ΕA ET-12 1 \$1,300.00 \$1.300.00 \$1,500.00 \$1.500.00 \$1.365.00 \$1.365.00 \$1.323.00 \$1.323.00 ET-13 ΕA \$3,150.00 3 \$3,150.00 \$1,035.00 \$3,105.00 \$1,000.00 \$3,000.00 \$1,050.00 \$1,050.00 20 ΕA \$26,000.00 \$28,000.00 \$27,300.00 \$24,160.00 ET-14 \$1,300.00 \$1,400.00 \$1,365.00 \$1,208.00 ET-15 13 ΕA \$1,400.00 \$18,200.00 \$1,550.00 \$20,150.00 \$1,470.00 \$19,110.00 \$1,265.00 \$16,445.00 ΕA \$4,485.00 ET-16 \$1,500.00 \$4,500.00 \$4,800.00 \$4,725.00 3 \$1,600.00 \$1,575.00 \$1,495.00 ET-17 \$4,500.00 \$5,400.00 \$4,725.00 \$1,296.00 9 ΕA \$500.00 \$600.00 \$525.00 \$144.00 \$1,000.00 ET-18 43 ΕA \$43,000.00 \$1,200.00 \$51,600.00 \$1,050.00 \$45,150.00 \$1,093.00 \$46,999.00

\$525.00

\$22,575.00

\$22,575.00

\$525.00

\$28,423.00

\$661.00

\$21,500.00

\$500.00

Short Title: PW Upper Market Sfty Impr Prj

15

3

3

---

---

---

ET-49B

ET-50

ET-51

ET-52

ET-53

ET-54

LF

ΕA

ΕA

LS

LS

LS

#### Full Title: UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS

Bid Date: October 21, 2020

M Squared A. Ruiz Construction **Esquivel Grading &** Paving, Inc. Construction, Inc. Company, Inc. CF Contracting, Inc. \$2,200.00 \$2,100.00 ET-20 2 ΕA \$1,000.00 \$2.000.00 \$1,100.00 \$1,050.00 \$575.00 \$1,150.00 \$38,500.00 \$36,750.00 ET-21 35 ΕA \$1,000.00 \$35,000.00 \$1,100.00 \$1,050.00 \$575.00 \$20,125.00 ΕA \$3,900.00 ET-22 3 \$1.200.00 \$3,600.00 \$1.300.00 \$1.260.00 \$3,780.00 \$1.093.00 \$3,279.00 \$5,000.00 \$2,520.00 \$2,625.00 \$5,250.00 \$5,980.00 ET-23 2 ΕA \$2,500.00 \$1,260.00 \$2,990.00 ET-24 ΕA 2 \$2,600.00 \$5.200.00 \$2,700.00 \$5,400.00 \$2,730.00 \$5.460.00 \$3.105.00 \$6.210.00 ET-25 ΕA \$2,700.00 \$5,400.00 \$2,750.00 \$5,500.00 \$2,835.00 \$5,670.00 \$3,220.00 2 \$6,440.00 ET-26 17 ΕA \$2,800.00 \$47.600.00 \$2,900.00 \$49.300.00 \$2.940.00 \$49,980.00 \$3,565.00 \$60.605.00 ΕA \$84,000.00 \$7,600.00 \$91,200.00 \$7,350.00 \$88,200.00 \$99,360.00 ET-27 \$8,280.00 12 \$7,000.00 ET-28 ΕA \$18,000.00 \$19,000.00 \$18,900.00 \$18,285.00 1 \$18,000.00 \$19,000.00 \$18,900.00 \$18,285.00 ET-29 \$38,000.00 \$22,000.00 \$39,900.00 \$19,000.00 \$19,950.00 \$18,860.00 \$37,720.00 2 ΕA \$44,000.00 \$21,000.00 ET-30 ΕA \$20,000.00 \$20,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$19,090.00 \$19,090.00 1 \$22,000.00 \$23,690.00 \$23,690.00 ET-31 ΕA \$22,000.00 \$24,000.00 \$24,000.00 \$23,100.00 \$23,100.00 1 ET-32 ΕA \$6,300.00 6 \$6,000.00 \$6,600.00 \$6,900.00 \$1,000.00 \$1,100.00 \$1,050.00 \$1,150.00 \$1,100.00 \$1,050.00 \$19,950.00 \$17,480.00 ET-33 19 ΕA \$1,000.00 \$19,000.00 \$20,900.00 \$920.00 35 \$2,200.00 \$73,500.00 \$40,250.00 ET-34 EA \$2,000.00 \$70,000.00 \$77,000.00 \$2,100.00 \$1.150.00 ET-35 ΕA \$7,500.00 \$2,600.00 \$7,800.00 \$2,625.00 \$7,875.00 \$1,380.00 \$4,140.00 3 \$2,500.00 \$6,000.00 ET-36 40 LF \$100.00 \$4,000.00 \$105.00 \$4,200.00 \$105.00 \$4,200.00 \$150.00 \$173.00 ET-37 835 LF \$105.00 \$87,675.00 \$110.00 \$91,850.00 \$110.25 \$92,058.75 \$144,455.00 ET-38 LF \$20,700.00 \$20,790.00 \$35,280.00 180 \$110.00 \$19,800.00 \$115.00 \$115.50 \$196.00 ET-39 LF \$115.00 \$8,625.00 \$120.00 \$9,000.00 \$120.75 \$9,056.25 \$196.00 75 \$14,700.00 \$3,450.00 ET-40 30 LF \$3,300.00 \$115.00 \$3,465.00 \$5,880.00 \$110.00 \$115.50 \$196.00 ET-41 35 \$115.00 \$4,025.00 \$120.00 \$4,200.00 \$120.75 \$4,226.25 \$196.00 \$6,860.00 LF 75 LF \$9,000.00 \$125.00 \$9,375.00 \$126.00 \$15,075.00 ET-42 \$120.00 \$9.450.00 \$201.00 ET-43 15 LF \$125.00 \$1,875.00 \$130.00 \$1,950.00 \$131.25 \$1,968.75 \$207.00 \$3,105.00 ET-44 615 LF \$120.00 \$125.00 \$126.00 \$77,490.00 \$116,850.00 \$73.800.00 \$76.875.00 \$190.00 LF ET-45 325 \$68,250.00 \$215.00 \$69,875.00 \$220.50 \$71,662.50 \$201.00 \$65,325.00 \$210.00 ET-46 LF \$215.00 \$17,200.00 \$220.00 \$17,600.00 \$225.75 \$18,060.00 \$219.00 \$17,520.00 80 ET-47 ---------------------LF \$13,200.00 \$13,500.00 \$13,860.00 \$13,140.00 ET-48 60 \$220.00 \$225.00 \$231.00 \$219.00 ET-49 ---------------------15 LF \$125.00 \$126.00 \$196.00 \$1,800.00 \$1,875.00 \$1,890.00 \$2,940.00 **ET-49A** \$120.00

\$220.00

\$2,100.00

\$2,200.00

---

---

---

\$3.300.00

\$6,300.00

\$6,600.00

\$255,000.00

\$22,000.00

\$65,000.00

\$3,225.00

\$6,000.00

\$6,000.00

\$350,000.00

\$20,000.00

\$60,000.00

\$215.00

\$2,000.00

\$2,000.00

---

---

---

\$3,105.00

\$5,175.00

\$3,795.00

\$25,300.00

\$17,250.00

\$138,000.00

\$207.00

\$1,725.00

\$1,265.00

---

---

---

\$3,386.25

\$6,300.00

\$6,300.00

\$341,250.00

\$21,000.00

\$63,000.00

\$225.75

\$2,100.00

\$2,100.00

---

---

---

Short Title:

# PW Upper Market Sfty Impr Prj UPPER MARKET CORRIDOR SAFETY IMPROVEMENTS Full Title:

Bid Date: October 21, 2020

				M Squared		A. Ruiz Construction		Esquivel Grading &		
				Construction, Inc.		Company, Inc.		Paving, Inc.		CF Contracting, Inc.
ET-55		LS		\$60,000.00		\$66,000.00		\$63,000.00		\$74,750.00
ET-56		AL		\$60,000.00		\$60,000.00		\$60,000.00		\$60,000.00
ET-57		AL		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00
S-1	12	EA	\$4,000.00	\$48,000.00	\$4,500.00	\$54,000.00	\$4,200.00	\$50,400.00	\$6,325.00	\$75,900.00
TOTAL BID PR	ICE:			\$10,685,509.00		\$8,382,680.90		\$7,540,493.20		\$8,376,590.00

= Indicates a correction of the bid price after review.